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Section A : Basic Concepts (30 Marks)

L ]

This section consists of questions with serial number 1 - 30.
Answer all questions.

Each question carries one mark.
Maximum time for answering Section A is 30 Minutes.

Which of the foliowing is not a function of Treasurer?

Hecording 3l the transactons in the general ledger
Risk managemeanl

Selection of sutable banking services

Investiment decisions

Financing decisions

10 years from now a person recetves a pension of T 10,000 per annum, the payment will
continue for 16 years: If the interest rate s 10%. the worth of the pension now s

33,104
T33274
T 33.174
T 33,374
T 33,574.

The fixed deposit scheme of JK Bank Lid has following interest rates:

Period of deposit Interest rate |
58 days to 180 days 10%
188 days to < | year 11%
1 year and above 13%

An amount of T 20 000 invested today will grow In 5 years 10

=)
(1]
)
{d)
(e)

T34 840
735840
T 36 84D
T37.840
€ 38,840
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4.  Aninvestor is planming to invest in the equity stock of Tanti India Ltd. The current share price
ts ¥ 100 per share The company has declared a dividend of T 7 per share for the current
year. The jnvestor is of the opinion that the dividend per share will remain same for the next
two years after which it will grow at the rate of 1% p.a in the third and fourth years. From (ne
fifth year onward, dividends are expected to grow at a perpetual rate of 3% p.a. lf the
required rate of retumn is 12% p.a what will be intrinsic value of share?

(a) 25330
(b) ¥ 86231
AE)  T73.33
(d} 28334
(e) T 9337

5, AT 5,000 bond with a 10% coupon rate matures In 8 years and currently sells at 87% of face
value. If the required rate of return is 11%, which of the foliowing statements is/are true?

I The current price of the bond will be equal to its present value of returns =~

Il The cumrent price of the bond is higher than its present value of returns: therefore,
investment in the bond is undesirable. 7

Ill.  The current price of the bond is lower than its present value of returns. therefore,
Investment in the band is desirabls,

{
~
(
(
(

B

LS I
e T Pt e e

Only (1) above

Only (I1) above

Cnly (1) above

Both (1) and (1) above
Both (I} and (I11) above.

6.  Which of the following statements is/are true regarding Funds Flow Statement (FFS;7

L

&

[ FFS is a statement which explains the various sources from which funds were raised
and their uses.

I, It helps in divisional parfarmance appraisal.

lfl It can be used in evaluation of firm's financing

fal  Only (1) above
(k) Cnly {Il) above
(e} Only () above
s,‘.ﬂfl:ﬂ Baoth {1y and (lI1) above
(g} Al () and (1) above.

7. Which of the following 1s not a spontaneous source of financing:current assets?

{a}  Accrued expenseas
{by  Provisions
c)  Overdraft
{d)  Trade credit
(e} Sundry creditors,
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8.  Which of following statements is/are false about ABC analysis of inventory?

| ABC system analyzes the items according to their Importance in production system.
It it ensures closer control on costly items.

1l it helps in achieving the main objective of inventory control at minimum cost.

ﬁg} Cinly {1 above _
by Cnly {Il) above

izy  Only {I) above

fd) Both (1} and (II) above

{gy Both {1} and {IIl) above.

9. Which of the following statements is/are false about the Certificate of Deposits (CDs)?

| Certificate of Deposits [CDs) are marketabls receipts in bearer or registered form
I Certificate of Deposits (CDs) are similar to fixed depasits -~
il They are liquid and risk less in terms of default of payment of interest and principal.

(al  Only (I} above

i) Cnly () above

fg) Cnly (I above

(d)  Both (l) and (ll) abave
f{é'}i Both (1) and {III) above

10.  Which of the following statements is/are true about Treasury bills?

I These are short term government securities sold by cantral bank v
i They have fixed rate of interast and therefore they are regarded as nsk less secunties
1 They are nighly secured and liguid " ’

(&) Only (1) above

(by  Only (II) above

() Bath (1) and (I} abave
Ady  Both () ana (I} above

fed AL, (1) and (1) above.

11. The method of ralsing additional finance from existing members by offering securities 1o them
an pro rata basis Is known as?

¢Ta)  Rights |ssue
by Bought-out-deal
(e) Bonus issue
(d)  Pubhc lssue
el Private Placements.

12.  The rate of return of CAT Lid is 12%, eamings per share s T 15 and the cost of capital |s
10%. The dividend payout ratio of the company is 20% The share price of the company
accaording to Gordon model i1s

(a) 2550 P =T
(m ? EE'EI l I‘:’f ) "-,-':':"_:_ -L Id.\_;’, | \
ey 2750 V=& -
(d] %850 s
(8] TO50
Page 4 of 14
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Current account deficits In a Balance Of Payments (BOP) statement are offset by

(8}  Capltal account surpluses
{by  Merchandise trade deficits
(e Merchandise trade surpluses
(dy  CTapital account deficits
{g)  Official reserves,

A firm has combined leverage of 1.6 and financial ieverage of 1 05 The firm's sales amournts
to be ¥ 500000 p.a and ts EBIT is equal to ¥ 2,32 500 What will be the parcentags of
variable cost to sales?
(@) 28.32% o _'_j_"‘ﬁ' o
by 2932% BT R
e)  30.32% e
{4y 31.32%
(&) 32.32%.
If the Nat Present Value (NPY) of an investmeant 1s positive, the impact on Benefit Cost Ratio

(BCR), Net Benefit Cost Ratio (NBCR), Internal Rate of Return (IRR) and cost of capital (K)
would be

{a) IRE =¥ and NBCR = 1

(b) IRR=KandBCR=1
Acl - IRR = K and NBCR = 1
’qd)} IRR = K and BCR = 1

{e} NBCR =BCR andK = IRR,

Which of the following isfare the objective(s) of audit commitiee”

L. Evaluation of financial reports and policies.
il Assessment of parformance.
HI. Assurance to shareholders about the targeted actions and social responsibility of the

firm
Tﬁ Only (1) above
(B} Only (1} above
ﬁ%ﬁ} Only (11} above
/74d)  Both (1} and (Il above

() AL, (1) and (1) above

The following are the exchange rates quoted in Singapore
S3/Euro 2011821 -~
S5/US$ 1.7384/86 e X X
ke o N
The synthetic rates of USS/Euro are e - f-. u
= N A - - ik
(@) 1157273 e NN : V>
AB) 11571774 Aol o
(¢) 0 B8640/41 et e
(d) 08639/42 : =1
(e}  3.4977ITS b -
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18. A limit on the number of units that can be imported or market share that can be held by
foreign producers is known as

A3] Quota
{b) Embargo
(¢]  Woluntary Export Restraint (VER)
{d]  Subsidy
el  Local Content Requirement.
19. Fixed or Pegged Exchange Rate System include(s)?
Rl Cumency Board System

I Target Zone Arrangement
i Monetary Union.

~13]  Only (l) above

by Opkly (1) above
(&) Cinly (1) above
{di  Both () and (Il above
fe) AL, (Iyand (1 above.

20.  Which of the following 15 not a Eurobond instrument?

(a) Commercial Faper
~Th}  Depository Receipts
fcy  Medium-Term Notes
{d}  Note-lssuarnice Faclities (NIF's)
{e)  Standby Note-lssuance Facllities.

21. According to Posner, the improvement in technalogy is a continuous process and resulting
nvantions in exsting products give rise to trade between two countries having similar factor
endowments and consumer tastes. Which theory of international trade 1s this?

{al  Theory of comparative advantags
{b)  Theory of absolute advantage

/7le)  Imitation gap theory
{dl  Imternational preduct life cycle theory
fey  J-Curve theory,

22, A Quote given by the bank to its retail customers is a

(a)  Direct quote

(b)  Indirect quote
~{c)  Merchant quote

{d)  European guote

(e}  American quate

23.  Anmporier in U K who expects to pay the impor bill In dallar after 3 montns will hedge fus
exposura by

(&) Buying doliar in the spot market
i) Booking a3 month forward contract for selling dollar
% Booking 2 3 month forward contract for buying dallar =
(d)  Booking 2 3 month forward contract for buying pound
e}  Booking a 3 month forward contract for selling the pound.

Page 6 of 14
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24, Which of the following statements i1s false if a country is following a Managed Float System™

{a} The volatility of exchange rales associaled wilh a clean fioal increases [ne @conomic
uncertainty faced by players in the international markets

(b)  The central bank may occasionally enter the market in order to smaoothen the
transition from one rate to another

(qcp A sudden depreciation of domestic currency may lead decrease in inflation rate in the

economy

{d) The central bank's aim In Intervention of the markei is 10 prevent speculative attacks
on the currency e

(e) A sudden appreciation of the domestic currency would make the domestic gocds mare
expensive in international markets. -~

25. Which of the following nsk(s) is/are not covered by Export Credit Guarantee Corporation
(ECGC)?

l Fluctuations in exchange rates. «
Il Loss or damage to goods covered under ganeral insurance ¢~
. Insolvency of the buysr

(a) Only (1) above
(b)  Only (Il) above
(¢l Only (Ill) above
@ Both (1j and (Il) above
(e} Both(ll) and (lll) above.

26. Interest rate parity implies that

(a] Interest rale should change by an egqual amount but in the opposite direction. to the
difference in inflation rales batween two countries

(B)  Inthe long run real interest rate between two countries will be equal

{c) Nominal interast rates in each country are equal to the required real rates plus
compensation for expected inflation

idi  The interest rales between two countries start in equilibrium any change in the
differential rate of infiation betwsen the two tountnes tend to ofiset over the long-term
by an equal but oppostte change in the spol exchange rate

Ae]  The difference in Interest rates in different currencies for securities of similar risk and

matunty should be consistent with the forward rate discount or premium fot the foremgn
currency

27. Which of the follewing statements isfare false about the assumptions of standard Economic
Order Guantity (EOQ)7

| The demand for a given period Is known.,~~

Il.  Thera may be delays in placing and recelving order =

lll.  There are two ccsts associaled with inventories | e carrying cost and ordering cost and
the cos! per order is constant .~

(a) Only (1) above
1 Omnly (1) above
(e) Omnily [Ill) above
{d) Baih (1) and (11} above

(g) Bath (1) and (lIl) above
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28. Which of the following statements 1s/are true about Yield To Maturity {(YTM)?

[ It is presant value of future cash flow streams Le. intrinsic value of an asset.

I Il iz the tatal amount of cash racaived by an investor at maturity date of security ~

il It is the discount rate which equals the present value of promised cash flows to the
current market price/purchase price. |~

(z)  Only (1) above
(by  Only {ll) above
<€) Only [IIl} sabove
{(d)  Both () and () above
{e} Al (I and (1) above,

29, Reliance industries imited issues 14% debentures, face value ¥ 100. The net amount
realized per debenture s ¥ G4 The debentures are redeemable at par after 10 years. If the

company pays 50% tax on its income, the cost of debt would be
LA

I:EI:J 5 8% 5 & '("l"' o N r'_ﬁr‘_':
(hj A 8% vsd s o] e ,.-.' - il 25

(Tey 7.8% AT WA oy
id) B.8% - N r,&}_' i 1
e} 9.Q%

30 Which of the following statements isfare true about European Options?

| In these options writer's [lability |5 limited "
I These optians can be exsrcised at a spacified time anly. "
Il These options can be exercised at any time.~»2

fal  Onby () above

(B} Onily (I} above

1{9 Only (1) above
~7d)  Both (I} and (I} above
(I

fe] Both (1) and (1) above.

[ END OF SECTIONA |
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Sections B&C
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Section B : Problems/Caselet (50 Marks)

« This section consists of questions with serial number 1 - 5.

+  Answer all questions.

= Marks are indicated against each guestion.

» Detailed workings/explanations should form part of your answer.

» Do not spend more than 110 - 120 minutes on Section B.

1, /.\ A firm has Degree of Operating Leverage (DOL) equal to 1.3 and the sales
' revenue of T 50,00.000. The variable cost to sales ratio is 40%.

You are required tc calculate the combined leverage of the firm. if the
< company s paying an intarast of T 60,000, { B marks)

£ Hindustan Lever Lld is considering a new product line to supplement its

Q product rangs. It s anticipated thal the new product line will involve cash

investments of ¥ 7.00,000 at time 0 and ¥ 10.00,000 in year 1. After-tax cash

inflows of < 2,50,000 are expected in year 2. 7 3,00,000 in year 3.3 3,50,000

in year 4 and T 4.00.060 thereatfter through year 10. While the product line

might be viakble after year 10, company prefers to be conservative and end all
calculations at that time

You are required lo determine Net Present Value (NPY) of the project. at
required rate of return 15% and 10% and comment at which rate the project

will accepled or rejectad? { 6 marks)
/ Victar Technologies Ltd (WTL) has the following capital structure:
| Book value
* "
| B Particulars (% in lakh)
Equity share capital {10 lakh shares at par value) 1,000
Retained earnings 1.400
11% non-convertible debentures {15 lakh 1 500
debeniures st face valug)
12% term loan 1100
5000

The past dividend and pnce data of the equity share of VTL are given below

Year | 2007-08 [ 2008-09 | 2009-10 [ 201011
Dividend per share (T} pad at the end 21 22 24 25
of the year
Price per share (%) at the beginning of | 245 255 2538 264
the year |

The interest on the debentures |s payable annually. The debentures will be
redeemed at the end of the fifth year and sixth year from now, in twa egual
installments. The net amount realized per debenture is ¥ 97 The difference
batwaen the redemption value and the net amount realized will be written off evenly
over the peried of six years from now and it 1s assumed that the amount so wrtten
off will be allowed as a tax-deductible 2xpense The tax rate applicable (s 36%

Page 10 of 14
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The price of the equity share of VTL at the end of the year 2010-11 was 2 280. It is

assumed that the aciual vields earned by the equity sharehelders in the past have

been in conformity with their expectations and the equity shareholders will continue

to have similar expectations in the future

You are required to compuie the weighted average cost of capital for the company ( 12marks)

/3./ Mr. Kevin Robert, the treasurer of an MMNC in US observed that the company has a

surplus of USS one milion for a penod of 3 months. The treasurer has soughi the
permission of the CEO ta invest in a local bank at a rate of 20% p.a, The CEO
advised the treasurer to consider the likely return from investing the fung in Indian
of Hong Kong market before finally deciding upon,

BIHKS Spot 0128588
Three months 0 1290325
F1% Spot 471719
Three months 47 53/85

Interest rates for 3 months in HK$ (p.a.) . 3.00% - 3.40%

Interest rates for 2 months in Indian rupee (p.a); 6.00% — 7.00%,

Which of the following currencies would you recommend for investment?

i U S dollars.

i Hong Kong dollars.

il Indian rupess. {10marks)
Caselet

Answer the following questions based on the given Caselet:

4. As per the caselel, External Commercial Borrowing (ECB) Is being permitted by the
government for providing an additional source of funds to Indlan corporates and
PSUs. ECB route has gained significant importance in the recent timas dus to the
higher cost of borrowing in India compared with the international markst In this
regard, discuss the other advantages of ECE. Also explain the disadvaniages of
ECE ifany. | B marks)

y According to the caselet, funds can be raised through different forms of ECBs
which are available in the international financial markets Discuss those forms of

ECEs. { & marks)

External Commercial Borrowings (ECBs) are being permitted by the Government
for providing an additional scurce of funds lo Indian corporates and PSUs for
financing expansion of existing capacity and as well as for fresh investment, to
augment the resources available domestically. ECBs are approved within an overall
annual ceiling. consistent with prudent debt management. keeping in view the
balance of payments position and level of foreign exchange reserves.

An Indian enterprise borrowing in foreign exchange has to comply with the ECB
policy announced by the regulator, the RBl ECBs encompass commercial bank
ioans, buyers credit. suppliers’ credit, securitized instruments such as floaling rale .
—ToTEE and fixed rate bonds, credit from official export credit agencies. foregn @
clrrency convertible bonds and commercial borrowings irg privaie sector
lending arms of multilateral Tinancial nsttutions—or instance. the Intemational

Page 11 of 14 {Please Turn Page)
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Finance Corporation and the Asian Development Bank. The ECB pohcy is
monmitored and updated by RBI on a regular basis, according to the macrosconomic
condiions and foreign exchange liquldity situation,

The Indian economy has seen phanomenal growth over the last few vears. The
ecancmic boom was intiated by the information technology sector and followed by
the resurgence in the manufacturing and services industries. While the boom was
accompanied by substantial forgign direct investment, Indian enterprises have also
accessed significant amounts of foreign debt. The cost of barrowing being higher in

india compared with the international market. Indian companies siaded using the
ECE routs frequently. As an anti-inflationary measure, RBl amended the ECB

“Tohcy, making It more restrictive

Alil

QOwer the coursa of last year, ECBs have suffered in view of the adverse economic
conaitions coupled with the regulatory hurdles. As a result of this, funds raised by
India Inc. as ECBs declined by 64 per cent during 2008-02 on account of tight
liguidity in the global markets triggered by collapse of Lehman Brothers. The
biggest slump in India came in the ECBs of corporates as demand declined and
nvestment plans tock a back seat ECBs came down to almost one-third in 2008-
08 compared with inflows in 2007-08.

REl has tried to address the problems faced in the reaim of ECBs by announcing a
number of steps to liberalize the policy While RBI officials have tried to stimulate
the ECE market to provide the required foreign exchange liguidity at affordable
rates lenders globally have been either increasing rates of interest or demanding
prepayment of existing loans. Admittedly, the global financial situation continues to
be uncerntain even today The US. UK, European countries and Japan have all
officially recoonized the recession and the increase in the downside risks to the
global economy, Simultaneously, the policy initiatives in these economies have
baen geared towards managing the recession and defusing potentially deflationary
trends

The challenge for India lies in the regulator, RBI, ensuring that the ECE policy
remains proactive and reflects the economic reality. Simultaneously, banks and
financial Institutions should endeavor to continua lending to reputed firms that hava
2 good credit istory

| END OF CASELET |
| ENDOF SECTIONB |
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Section C : Applied Theory (20 Marks)

L
|
2

This section consists of questions with serial number 6 - 7.

Answer all guestions.
Marks are indicated against each question.
Do not spend more than 25 - 30 minutes on Section C.

‘i/ Funds flow analysis provides meaningful insights inio the operations of a firm

/ Explain the significance of funds flow analysis in the light of the insights it provides

7y

{ 10marks)

"If the forward premium deviates substantially from the interest rate differential

/ between two currencies, covered interest arbitrage 1s possible”. says the Interes:
- Rate Parity theoremn Discuss why the Interest Rate Parity may not holds good In

reality.

|__END OF SECTION C

— i —

| END OF QUESTION PAPER |
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INSTRUCTIONS FOR MARKING ANSWERS ON THE OMR SHEET
| Section-|
Use Ball Point Pen cnly
Fill in all the particulars v the space provided
2. Section -1l
Use HB Pencil only
Fill in ene character/digil per cell and darken the carresponding circle balow that cell
Detzils to be filed include enrolment no.. question booklet no. test centre code & OMR
answer sheet numbsar
In case you want to change any of tha infermation in this section, erase completely the pencil
marking in the already darkened circle before darkening a new cell,
5. Section -1}l
(i} Marking the answer
= Mark your answers in this section using HB Pencil only
= For answering each question five circles marked with options A, B, C, D and E are
provided corresponding to the five options given in the guestion.
= Mark your answer by darkening completely the circle cansisting of the option yau
think is the right answer
= Do not darken maore than one circle for any answer
= Do not fill the circle by darkenming partly or putting a tick mark. cross mark or any

P

B

other kind of mark.

WRONG METHOD CORRECT METHOD
S
[eXoxelciCHiCIcICL Jel
WRONG METHOD ' CORRECT METHOD

Lorex Jellierciex el

{ii) Changing the answer
= To change your response, erase completely the pencil marking in the circle before
darkening a new circle.
For Example assume that you have marked option (g} as the answer to a guestion
as follows

1 @ ©» © @ @
If you want to change this answer to optian (o), erase completely the circle marked
earlier e (2] and darken the Gr{cle with oplion (¢) as follows

1 ®@ & ® © ©

DO NOT fold, tear or crumple the OMR answer sheat.

0O NOT use the OMR answer shaeat for any rough work or scribbling.
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